
1. a) 7
3
5

b) 13
10
17

c) 6
12
13

d) 231
3
11

2. a) 
2⋅24
3⋅24

=
48
72

b) 
81 :  9

243  :  9
=

9
27

3.

a) 54 = 2⋅3⋅3⋅3;  72 = 2 ⋅2 ⋅2⋅3⋅3  ⇒  ggT(54;72) = 2 ⋅3 ⋅3 = 18  ⇒  
54  :  18
72  :  18

=
3
4

b) 114 = 2⋅3⋅19;152 = 2⋅2⋅2⋅19 ⇒ ggT(114;152) = 2⋅19 = 38  ⇒  
114  :  38
152  :  38

=
3
4

c) 520 = 2 ⋅2 ⋅2 ⋅5⋅13; 624 = 2⋅2⋅2⋅2⋅3⋅13 ⇒ ggT(520;624) = 2⋅2⋅2 ⋅13 = 104 ⇒
520
624

=
5
6

d)
2448 = 2⋅2⋅2⋅2⋅3⋅3⋅17
3672 = 2⋅2⋅2⋅3⋅3⋅3⋅17

 
 
 ⇒ ggT(2448; 3672) = 2⋅2⋅2⋅3⋅3⋅17 = 1224⇒

2448
3672

=
2
3

4. a) 
3
4

=
21
28

;  
5
7

=
20
28

 ⇒  
5
7

<
3
4

b) 
7

10
=

14
20

;  
4
5

=
16
20

 ⇒  
7

10
<

4
5

<
17
20

5.
39 =    3    ⋅13
15 =    3⋅5
10 = 2    ⋅5

 
 
 

  
⇒ kgV(39;15;10) = 2⋅3⋅5⋅13 = 390  ⇒

5
39

=
50
390

;
2

15
=

52
390

;
3

10
=

117
390

6.
42 = 2     ⋅3     ⋅7
20 = 2⋅2     ⋅5
15 =        3⋅5

 
 
 

  
⇒ kgV(42;20;15) = 2 ⋅2 ⋅3 ⋅5⋅7 = 420

⇒  2
19
42

= 2
190
420

;  
47
20

= 2
7
20

= 2
147
420

;  2
7
15

= 2
196
420

 ⇒  
47
20

< 2
19
42

< 2
7

15

7. a)

14 = 2         ⋅7
35 =        5⋅7
10 = 2     ⋅5
28 = 2⋅2     ⋅7

 

 
  

 
 
 

⇒ kgV(14;35;10;28) = 2 ⋅2 ⋅5⋅7 = 140

⇒  
9
14

+
22
35

−
9

10
+

5
28

=
90
140

+
88

140
−

126
140

+
25

140
=

77
140

=
11
20

b) 6
3
4

+ 3
5
6

 
 
 

 
 
 − 3 −

7
20

 
 
 

 
 
 = 6

9
12

+ 3
10
12

 
 
 

 
 
 − 2

20
20

−
7

20

 
 
 

 
 
 = 9

19
12

− 2
13
20

= 9
95
60

− 2
39
60

= 7
56
60

= 7
14
15

8. a) 
40⋅45⋅12
25⋅24⋅15

 =
15

 
40⋅3⋅12
25⋅24

 =
5
 

8⋅3⋅12
5⋅24

 =
24

 
12
5

= 2
2
5

b)
210⋅221
168⋅187

 =
2
 
105⋅221
84⋅187

 =
3
 

35⋅221
28⋅187

 =
7
 

5⋅221
4⋅187

 =
17

 
5⋅13
4⋅11

=
65
44

= 1
21
44

c)
847⋅390
429⋅385

 =
5
 

847⋅78
429⋅77

 =
7
 
121⋅78
429⋅11

 =
11

 
11⋅78
429

 =
3
 
11⋅26
143

 =
11

 
26
13

 =
13

 2

9. a) 4 ⋅5
1
3

= 4⋅
16
3

=
4⋅16

3
=

64
3

= 21
1
3

;   5
1
3

+ 5
1
3

+ 5
1
3

+ 5
1
3

= 20
4
3

= 21
1
3

9. b) 19⋅6
5

57
=

19⋅347
57

=
347

3
= 115

2
3

; 19⋅ 6 +
5

57

 
 
 

 
 
 = 19⋅6 +

19⋅5
57

= 114 +
5
3

= 115
2
3


